ĐÁP ÁN HOA 12 (TN)
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· Câu 1. 

· Số mol CO= số mol CO2 = 0,1 mol     (0,2 điểm)

· Khối lượng Fe thu được = 6,64 - 0,1 x 16= 5,04 gam  (0,6 điểm)

Câu 2. 

· Số mol Fe= 0,2 mol     (0,2 điểm)

· Viết đúng phương trình phản ứng (0,2 điểm)

· mCu = 0,2 x 64= 12,8 gam  (0,4 điểm)

Câu 3. 

· Số mol H2= số mol H2SO4 = 0,35 mol     (0,2 điểm)

· m = 13,5 + 0,35 x 96= 47,1 gam  (0,6 điểm)

Câu 4. 

· Số mol Al= 0,015 mol     (0,2 điểm)

· m = 0,405 gam  (0,6 điểm)

Câu 5. 

· Số mol NaOH =  0,3mol     (0,2 điểm)

· Số mol AlCl3 = 0,2 mol     (0,2 điểm)

· m Al(OH)3= 0,1 x 78= 7,8 gam  (0,4 điểm)

